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HREE W= 130kg
hG EDEE hG= 40.0cm
N ou LA= 44.9cm
- . . . RIVERINY B 4530m
o - ' U - S o A ARILM-E Iy LGA= 18.6cm
ﬁf’; FH f ch} FH ﬁ fEEERE LGB= 20.4cm
- q = ﬂ-i‘/w#«rx‘ M10
W+EV ) WHFV ML n= 4K
LGA LGB
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RERTRIZERE. g RBICHTHHELR
RETFHEEERE KS 1.0 1.5 2.0
Hh iz R 2 Z 1.0 1.0 1.0
RETHAKFEEE KH=KS X Z 1.0 1.5 2.0
RETAKFEHESD FH=KHXW X 9.8 127.4 N 191.1 N 254.8 N
RETRSEME S FV=FH/2 63.7 N 95.6 N 127.4 N
Foh—RILESIRA HRILE R/ (RbA)
b = FH x hG + (W x9.8+ FV)x (L - LG) 112.7 N 150.4 N 188.1 N
L x nt HRILER 73 (RbB)
* L:LAX (LB, LG:LGAZE=ILLGB. nt=n/2 108.8 N 1456 N 1825 N
Toh—mRILbEABEAE
- FH IV BT E RS 57.9 N/cm? 86.9 N/cm?| 115.8 N/cm?
n-A A=055 gm?
B7h—DEHHRHRFEICHTE2RER
HERIEBIERTH—RILM(ERLH)
RS o 33.7 1% 25.3 f& 20.2 f&
EHIF A5 R E 3.8 kN
ZERIFOEMHBEABIGHEICHTIREE
7RJL Ik (SS400)
174.4 {& 116.3 & 87.2 {&
MEIHA AW HE:10.1 kN/om’
AT L RARILE (A2-50)
7 i 157.5 f& 105.0 f& 78.7 1%
MEIHREAMGHE:9.12 kN/ocm’
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